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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 = RHET R4.6.14 [FHHD BRHEE9(<6.9) BHEE9(<5.6) BRHEEY
2 At R4.6.1 [EB5#D BREE9(<4.6) BREE9(<5.2) - Janpcc
3 =&Hr R4.5.25 [EB5#D BREE9(<6.1) BRHEE9(<6.0) - Janpcc N
4 ABIH R4.5.31 [EB5HD BRHEE9(<6.3) BRHEE9(<6.3) - Janpcac N
5 EJIFF R4.5.28 [EB5#D BRHE9(<6.0) BRHEE9(<6.0) - Janpcc
6 EERAH R4.6.20 [EB5#D BREE9(<6.1) BREE9(<54) - Janpcc N
7 SRR THT R4.6.15 [EB5H#D BRHEET(<L7.2) BRHET(L5.7) BRHEY
8 REF0FF R4.6.13 [EB5HD BREE9(<7.9) BRHEE9(<6.2) BRHEY
9 sG] R4.6.18 [EB5HD BREE9(<L5.7) BRHEE9(<L5.8) BRHEY

BaBEE B2 —REBEROREE 9L 100Bg/kg(t>HL-134, £ H L-13TOEE(E)




